
US Cabinet 
Depot

R TA  C A B I N E T 
A S S E M B L Y  G U I D E

KitchenCabinetKings.com

(888) 696-6454



WBC2730,WBC2736,WBC2742
ASSEMBLY INSTUCTIONS

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint top panel with side panel 
STEP 3: Joint bottom panel with side panel 
STEP 4: Attach frame on 
STEP 5: Put on the adjustable shelves 
STEP 6: Fix door onto the frame and adjust the cover-space

PARTS LIST

NO. DESCRIPTION QTY

A SIDE PANEL 2

B BACK PANEL 1

C TOP & BOTTOM PANEL 2

D FACE FRAME 1

E ADJUSTABLE SHELF 2

F CABINETS DOOR 1

HARDWARE LIST
NO. DESCRIPTION QTY PICTURE

1 1/2” HINGE 2

2 3/4” ROUND HEAD SCREW 2

3 BUMPER 2

4 SHELF CLIP 8

5 9/16”ROUND HEAD SCREW 56

6 CLEAT 14

7 1”FLAT HEAD SCREW FOR 
CARCASS

6

www.KitchenCabinetKings.com • (888) 696-6454 2

A

B

B

B

C C

C

C
C

C

D

D

E

E

F

D

A

A

A

AA

A

STEP: 2

STEP: 5 STEP: 6

STEP: 1

STEP: 3 STEP: 4



W0930,W1230,W1530,W1830,W2130
W0942,W1242,W1542,W1842,W2142
ASSEMBLY INSTUCTIONS

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 2

2 3/4” ROUND HEAD SCREW 2

3 BUMPER 2

4 SHELF CLIP 8

5 9/16”ROUND HEAD SCREW 40

6 CLEAT 10

7 1”FLAT HEAD SCREW FOR 
CARCASS

4

www.KitchenCabinetKings.com • (888) 696-6454 3

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint top panel with side panel 
STEP 3: Joint bottom panel with side panel 
STEP 4: Attach frame on 
STEP 5: Put on the adjustable shelves 
STEP 6: Fix door onto the frame and adjust the cover-space

PARTS LIST

NO. DESCRIPTION QTY

A SIDE PANEL 2

B BACK PANEL 1

C TOP & BOTTOM PANEL 2

D FACE FRAME 1

E ADJUSTABLE SHELF 2 OR 3

F CABINETS DOOR 1

A A

A

A

A

A

AA

B

B

C

C

C

C

C

C C

E EF

D

D

STEP: 2

STEP: 5 STEP: 6

STEP: 1

STEP: 3 STEP: 4



DCW2430,DCW2436,DCW2442
ASSEMBLY INSTUCTIONS

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 2

2 3/4” ROUND HEAD SCREW 2

3 BUMPER 2

4 SHELF CLIP 10

5 9/16”ROUND HEAD SCREW 92

6 CLEAT 22

7 1”FLAT HEAD SCREW FOR 
CARCASS

6

8 135 DEGREE ANGLE 2

www.KitchenCabinetKings.com • (888) 696-6454 4

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint top panel with side panel 
STEP 3: Joint bottom panel with side panel 
STEP 4: Attach frame on 
STEP 5: Put on the adjustable shelves 
STEP 6: Fix door onto the frame and adjust the cover-space

PARTS LIST

NO. DESCRIPTION QTY

A FACE FRAME 1

B SIDE PANEL 2

C TOP & BOTTOM PANEL 2

D BACK PANEL 2

E BACK PANEL 1

F ADJUSTABLE SHELF 2

G CABINETS DOOR 1

A A

A

A

AA

B B

B

B

B B

B
B

C C

C C

C

C
G

C

C

E

E

FF

D

D

STEP: 2

STEP: 5 STEP: 6

STEP: 1

STEP: 3
STEP: 4



AW1230,AW1236,AW1242
ASSEMBLY INSTUCTIONS

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 2

2 3/4” ROUND HEAD SCREW 2

3 BUMPER 2

4 SHELF CLIP 8 OR 12

5 9/16”ROUND HEAD SCREW 32

6 CLEAT 8

www.KitchenCabinetKings.com • (888) 696-6454 5

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint top & bottom panel with side panel 
STEP 2: Attach left side panel 
STEP 3: Attach the frame  
STEP 4: Hinge the door to the face frame and adjust the cover-space 
STEP 5: Put on the adjustable shelves

PARTS LIST

NO. DESCRIPTION QTY

A RIGHT SIDE PANEL 1

B TOP & BOTTOM PANEL 2

C LEFT SIDE PANEL 1

D FACE FRAME 1

E CABINETS DOOR 1

F ADJUSTABLE SHELF 2 OR 3

A A
A

A
A

B

B

B

B

B

B

B

B

BC
C

C CE
E

F

STEP: 2

STEP: 5

STEP: 1
STEP: 3

STEP: 4

D

D
D



DCSF42
ASSEMBLY INSTUCTIONS

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 4

2 3/4” ROUND HEAD SCREW 4

3 BUMPER 4

www.KitchenCabinetKings.com • (888) 696-6454 6

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Put the front face frame on the floor 
STEP 2:  Fix door&drawer head onto the frame and adjust 

the cover-space

PARTS LIST

NO. DESCRIPTION QTY

A FACE FRAME 1

B DRAWER HEAD 1

C CABINETS DOOR 2

STEP: 2STEP: 1

A

A

B

C C



PR3015
ASSEMBLY INSTUCTIONS

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 9/16”ROUND HEAD SCREW 48

2 CLEAT 12

3 1”FLAT HEAD SCREW FOR 
CARCASS

16

www.KitchenCabinetKings.com • (888) 696-6454 7

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2:  Joint top panel with side panel
STEP 3: Joint bottom panel with side panel
STEP 4: Attach the dish rack on the both side
STEP 5: Attach front face frame on

PARTS LIST

NO. DESCRIPTION QTY

A SIDE PANEL 2

B BACK PANEL 1

C TOP & BOTTOM PANEL 2

D PLATE RACK 2

E FACE FRAME 1

STEP: 2

STEP: 5

STEP: 1 STEP: 3

STEP: 4

A A

A

A A

A

AB B

B B

C

C C

C

C

E
D

D



www.KitchenCabinetKings.com • (888) 696-6454 8

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with top panel 
STEP 2:  Joint back panel with side panel
STEP 3: Joint side panel with middle & bottom panel
STEP 4: Joint side panel with middle & bottom panel
STEP 5: Fix shelf board
STEP 6: Attach frame on and toekick board
STEP 7: Joint the drawer together, then install the drawer guide.
STEP 8:  Fix door&drawer head onto the frame and adjust the 

cover-space

PARTS LIST

NO. DESCRIPTION QTY

A SIDE PANEL 2
B TOP & BOTTOM PANEL 3
C BACK PANEL 1
D FACE FRAME 1
E TOE KICK 1
F DRAWER BOX FRONT  

AND BACK
6

G DRAWER BOX SIDE 6
H DRAWER BOX BOTTOM 3
I DRAWER HEAD 3
J CABINETS DOOR 2
K ADJUSTABLE SHELF 2

O338424,O339024,O339624
ASSEMBLY INSTUCTIONS

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 4

2 3/4” ROUND HEAD SCREW 4

3 BUMPER 16

4 1” ROUND HEAD SCREW 12

5 EPOXY SLIDE 3

6 SHELF CLIP 4

7 9/16”ROUND HEAD SCREW 68

8 CLEAT 17

9 1”FLAT HEAD SCREW FOR 
CARCASS

46

10 9/16” FLAT HEAD SCREW 30

STEP: 2

STEP: 5

STEP: 6

STEP: 7

STEP: 8

STEP: 1

STEP: 3
STEP: 4

A

A

A

A

A

A

A

F

FG

G
H

A

A

A

B

B

B

B

B B J

J

B B

K

K
K

I

B

B B
B

B B

BC

C C

C
C C

E

D

D

D

Epoxy sidemount
drawer runners

Drawer box
Runner 
profiles Rear mounting 

brackets

Drawer 
box



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 BUMPER 4

2 1” ROUND HEAD SCREW 4

3 EPOXY SLIDE 1

4 9/16”ROUND HEAD SCREW 16

5 CLEAT 4

6 1”FLAT HEAD SCREW FOR 
CARCASS

8

7 PLASTIC BLOCK 4

8 9/16” FLAT HEAD SCREW 18

www.KitchenCabinetKings.com • (888) 696-6454 9

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2:  Joint side panel with back panel
STEP 3: Attach frame on and toekick board
STEP 4: Attach the plastic block on the top corner
STEP 5: Joint the drawer together, then install the drawer guide.
STEP 6:  Fix drawer head on the drawer front and adjust the 

cover-space

PARTS LIST

NO. DESCRIPTION QTY

A SIDE PANEL 2
B BACK PANEL 1
C FACE FRAME 1
D DRAWER HEAD 1
E DRAWER BOX BOTTOM 1
F DRAWER BOX FRONT AND 

BACK
2

G DRAWER BOX SIDE 2

VKD36
ASSEMBLY INSTUCTIONS

STEP: 2

STEP: 5 STEP: 6

STEP: 1 STEP: 3
STEP: 4

Epoxy sidemount
drawer runners

Drawer box

Runner 
profiles Rear mounting 

brackets

A A A A A

A

A A

A

F

F

G

G

B

B B

B

B
B

C

C

C

C

E
D

Drawer 
box



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 4

2 3/4” ROUND HEAD SCREW 4

3 BUMPER 8

4 1” ROUND HEAD SCREW 4

5 EPOXY SLIDE 1

6 SHELF CLIP 4

7 9/16”ROUND HEAD SCREW 44

8 CLEAT 11

9 1”FLAT HEAD SCREW FOR 
CARCASS

11

10 PLASTIC BLOCK 4

11 9/16” FLAT HEAD SCREW 18

www.KitchenCabinetKings.com • (888) 696-6454 10

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2:  Joint bottom panel with side panel
STEP 3: Joint side panel with bottom & back panel
STEP 4: Attach frame on and toekick board
STEP 5: Joint the drawer together, then install the drawer guide.
STEP 6:  Attach the plastic block on the top corner,and put on the 

adjustable shelf
STEP 7:  Fix drawer head on the drawer front and fix door onto 

the frame and adjust the cover-space

B24,B27,B30,B33,B36,
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C TOP & BOTTOM PANEL 1
D TOE KICK 1
E FACE FRAME 1
F DRAWER BOX FRONT  

AND BACK
2

G DRAWER BOX SIDE 2
H DRAWER BOX BOTTOM 1
I ADJUSTABLE SHELF 1
J DRAWER HEAD 1
K CABINETS DOOR 2

A

A

A
A

A

F

F

F

G

G

G

H

H

B

B

B

B

B

B

B

B

K
K

I I

C

C

C

CC

E
E

E

E
D

D

D

J

Epoxy sidemount
drawer runners

Drawer box

Drawer 
box

Runner 
profiles Rear mounting 

brackets

STEP: 2
STEP: 5

STEP: 6 STEP: 7

STEP: 1

STEP: 3
STEP: 4



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 9/16”ROUND HEAD SCREW 48

2 CLEAT 12

3 1”FLAT HEAD SCREW FOR 
CARCASS

12

www.KitchenCabinetKings.com • (888) 696-6454 11

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2:  Joint top panel with side panel
STEP 3: Joint bottom panel with side panel
STEP 4: Attach the wine rack on the both side
STEP 5: Attach front face frame on

WRC2430,WRC3018
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C TOP & BOTTOM PANEL 2
D TOE KICK 2
E FACE FRAME 1

A A

A

A
A

A

A
B B

C

C

C

C

C

C

E

D D

STEP: 2

STEP: 5

STEP: 1
STEP: 3

STEP: 4



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 4

2 3/4” ROUND HEAD SCREW 4

3 BUMPER 4

4 SHELF CLIP 8

5 9/16”ROUND HEAD SCREW 56

6 CLEAT 14

7 1”FLAT HEAD SCREW FOR 
CARCASS

6

www.KitchenCabinetKings.com • (888) 696-6454 12

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint top panel with side panel 
STEP 3: Joint bottom panel with side panel 
STEP 4: Attach frame on 
STEP 5: Put on the adjustable shelves 
STEP 6:  Fix door onto the frame and adjust 

the cover-space

W2430,W2730,W3030,W3330,W3630 
W2442,W2742,W3042,W3342,W3642
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 2
B SIDE PANEL 1
C TOP & BOTTOM PANEL 2
D FACE FRAME 1
E ADJUSTABLE SHELF 2 OR 3
F CABINETS DOOR 2

STEP: 2

STEP: 5 STEP: 6

STEP: 1 STEP: 3

STEP: 4

A
A

A

A

A

A A A

B
B

C

C

C

C

C

C C

E

E

D

D

D

F

F



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 4 

2 3/4” ROUND HEAD SCREW 4

3 BUMPER 4

4 9/16”ROUND HEAD SCREW 
BUMPER

56

5 CLEAT 14

6 1”FLAT HEAD SCREW FOR 
CARCASS

8

www.KitchenCabinetKings.com • (888) 696-6454 13

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2:  Joint side panel with back panel and attahching top 

panel for giving support 
STEP 3: Joint back panel with side panel and back panel 
STEP 4: Attach frame on 
STEP 5: Fix door onto the frame and adjust the cover-space

W3012,W3612,W3015,W3615,W361524,
W3018,W3618,W361824
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A SIDE PANEL 2
B BACK PANEL 1
C TOP & BOTTOM PANEL 2
D FACE FRAME 1
E CABINETS DOOR 2

STEP: 2

STEP: 5

STEP: 1 STEP: 3

STEP: 4

A

A A

A
A

A A

B B

C

C
C

C

C

C

E

E

D

D



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 4

2 3/4” ROUND HEAD SCREW 4

3 BUMPER 16

4 1” ROUND HEAD SCREW 12

5 Epoxy Slide 3

6 9/16”ROUND HEAD SCREW 44

7 CLEAT 11

8 1”FLAT HEAD SCREW FOR 
CARCASS

28

9 Plastic Block 4

10 9/16” flat head screw 38

www.KitchenCabinetKings.com • (888) 696-6454 14

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint bottom panel with side panel 
STEP 3: Joint side panel with bottom & back panel 
STEP 4: Attach frame on and toekick board 
STEP 5:  Joint the drawer together, then install the 

drawer guide.
STEP 6: Attach the plastic block on the top corner. 
STEP 7:  Fix drawer head on the drawer front and fix 

door onto the frame and adjust the cover-space

V3621DL&DR
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C TOP & BOTTOM PANEL 1
D TOE KICK 1
E FACE FRAME 1
F DRAWER BOX FRONT  

AND BACK
6

G DRAWER BOX SIDE 6
H DRAWER BOX BOTTOM 3
I CABINETS DOOR 2
J DRAWER HEAD 4

STEP: 2

STEP: 5 STEP: 6

STEP: 7

STEP: 1
STEP: 3

STEP: 4

Epoxy sidemount
drawer runners

Drawer box
Drawer 
box

V3621DR V3621DL

Runner 
profiles Rear mounting 

brackets

A

A

A

A

A

A
A

F

F G

G

H

B
B

B

B

B
B

B

B

I

I

I

I

C

C C

C

E

ED

D

J

J

J

J

J

J

J

J



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 2

2 3/4” ROUND HEAD SCREW 2

3 BUMPER 6

4 1” ROUND HEAD SCREW 4

5 Epoxy Slide 1

6 SHELF CLIP 4

7 9/16”ROUND HEAD SCREW 44

8 CLEAT 11

9 1”FLAT HEAD SCREW FOR 
CARCASS

13

10 Plastic Block 3/4” ROUND 
HEAD SCREW

4

11 9/16” flat head screw 18

www.KitchenCabinetKings.com • (888) 696-6454 15

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint bottom panel with side panel 
STEP 3: Joint side panel with bottom & back panel 
STEP 4: Attach frame on and toekick board 
STEP 5: Joint the drawer together, then install the drawer guide. 
STEP 6:  Attach the plastic block on the top corner,and put on the 

adjustable shelf
STEP 7:  Fix drawer head on the drawer front and fix door onto 

the frame and adjust the cover-space

BBC36,BBC42 
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C TOP & BOTTOM PANEL 1
D TOE KICK 1
E FACE FRAME 1
F DRAWER BOX FRONT  

AND BACK
2

G DRAWER BOX SIDE 2
H DRAWER BOX BOTTOM 1
I ADJUSTABLE SHELF 1
J CABINETS DOOR 1
K DRAWER HEAD 1

STEP: 2

STEP: 5 STEP: 6

STEP: 7

STEP: 1 STEP: 3

STEP: 4

A

A A

A
A

A

A

F

F

G

G
H

B B

B B

B

B

B

K

I

C

C

C

C
C

C

E

E

E

E

D

D
D

D

J

Epoxy sidemount
drawer runners

Drawer box
Drawer 
boxRunner 

profiles Rear mounting 
brackets



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 Wood Block 2

2 135 DEGREE ANGLE 3

3 1/2” HINGE 4

4 3/4” ROUND HEAD SCREW 4

5 BUMPER 4 

6 SHELF CLIP 12

7 9/16”ROUND HEAD SCREW 78

8 CLEAT 18

9 1”FLAT HEAD SCREW FOR 
CARCASS

5

www.KitchenCabinetKings.com • (888) 696-6454 16

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint two side panel together 
STEP 2: Attach top panel 
STEP 3: Attach bottom panel 
STEP 4: Attach toekick on 
STEP 5: Attach frame on 
STEP 6: Put on the adjustable shelves 
STEP 7:  Hinge the door onto the face frame and adjust the cover-space

BEC24
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A SIDE PANEL 1
B SIDE PANEL 1
C TOP & BOTTOM PANEL 2
D TOE KICK 2
E FACE FRAME 2
F ADJUSTABLE SHELF 2
G CABINETS DOOR 2

STEP: 2

STEP: 5

STEP: 6 STEP: 7

STEP: 1

STEP: 3 STEP: 4

A

A

A A

A

A

A

F

F
G

G

B

B

B
B

B
B

B

C

C

C C

C

C
CC C

C

E

E

D
D

D

D D
D D

D



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 BUMPER 12

2 1” ROUND HEAD SCREW 12

3 EPOXY SLIDE 3

4 9/16”ROUND HEAD SCREW 40

5 CLEAT 10 

6 1”FLAT HEAD SCREW FOR 
CARCASS

26

7 PLASTIC BLOCK 4

8 9/16” FLAT HEAD SCREW 38

www.KitchenCabinetKings.com • (888) 696-6454 17

A

A

A

A

A
A

A

F

F

F

B
B

B

B

BB

B

B

I

I

I

C

C

C

E

E
E

D

D

D

D

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint bottom panel with side panel 
STEP 3: Joint side panel with bottom & back panel 
STEP 4: Attach frame on and toekick board 
STEP 5: Joint the drawer together, then install the drawer guide. 
STEP 6:  Attach the plastic block on the top corner,and put on the 

adjustable shelf 
STEP 7:  Fix drawer head on the drawer front and adjust the 

cover-space

3DB12,3DB15,3DB18,3DB24,3DB30,3DB36
3VDB12,3VDB18
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C TOP & BOTTOM PANEL 1
D TOE KICK 1
E FACE FRAME 1
F DRAWER BOX FRONT AND 

BACK
6

G DRAWER BOX SIDE 6
H DRAWER BOX BOTTOM 3
I DRAWER HEAD 3

F

F

G

G
H

Epoxy sidemount
drawer runners

Drawer box
Drawer 
boxRunner 

profiles Rear mounting 
brackets

STEP: 2

STEP: 5 STEP: 6

STEP: 7

STEP: 1 STEP: 3

STEP: 4



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 2

2 3/4” ROUND HEAD SCREW 2

3 BUMPER 2

4 9/16”ROUND HEAD SCREW 40

5 CLEAT 10 

6 1”FLAT HEAD SCREW FOR 
CARCASS

2

7 PLASTIC BLOCK 4

8 9/16” FLAT HEAD SCREW 8

www.KitchenCabinetKings.com • (888) 696-6454 18

A

A

A

A

F

B
B

B
B B

B

BC

C

C

E

E E

D

D
D

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint bottom panel with side panel 
STEP 3: Joint side panel with bottom & back panel 
STEP 4: Attach frame on and toekick board 
STEP 5: Attach the plastic block on the top corner 
STEP 6: Fix door onto the frame and adjust the cover-space

BT9
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C TOP & BOTTOM PANEL 1
D FACE FRAME 1
E TOE KICK 1
F CABINETS DOOR 1

STEP: 2

STEP: 5 STEP: 6

STEP: 1 STEP: 3

STEP: 4



www.KitchenCabinetKings.com • (888) 696-6454 19

A A A

B B B

B

B

B B

C

C

C

C

E

D

D

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 9/16”ROUND HEAD SCREW 56

2 CLEAT 14

3 BUMPER 4

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint top panel with back panel 
STEP 2: Joint side panel with back panel 
STEP 3: Joint bottom panel and middle panel with side panel 
STEP 4: Attach frame on 
STEP 5: Fix door onto the frame and adjust the cover-space

MS3018
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C BOTTOM PANEL 1
D TOP PANEL 1
E FACE FRAME 1

STEP: 2

STEP: 5

STEP: 1 STEP: 3

STEP: 4



www.KitchenCabinetKings.com • (888) 696-6454 20

A A
A

A

A

A
A

A

F

F

B B

C

C

C

C

C
C C

C

E E

D

D

HARDWARE LIST

NO. DESCRIPTION QTY PICTURE
1 1/2” HINGE 4

2 3/4” ROUND HEAD SCREW 4

3 BUMPER 4

4 SHELF CLIP 4

5 9/16”ROUND HEAD SCREW 56

6 CLEAT 14

7 1”FLAT HEAD SCREW FOR 
CARCASS

8

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel 
STEP 2: Joint top panel with side panel 
STEP 3: Joint bottom panel with side panel 
STEP 4: Attach frame on 
STEP 5: Put on the adjustable shelves 
STEP 6: Fix door onto the frame and adjust the cover-space

W3024,W3624,W362424
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 2
B SIDE PANEL 1
C TOP & BOTTOM PANEL 2
D FACE FRAME 1
E ADJUSTABLE SHELF 1
F CABINETS DOOR 2

STEP: 2

STEP: 5 STEP: 6

STEP: 1 STEP: 3

STEP: 4



HARDWARE LIST

NO. DESCRIPTION QTY PICTURE

1 HINGE PLATE 1

2 1 1/2” SOFTCLOSE HINGE 2

3 3/4” ROUND HEAD SCREW 2

4 BUMPER 6

5 DAMPER 1

6 1” ROUND HEAD SCREW 4

7 SELFCLOSE SLIDER 1

8 SHELF CLIP 4

9 9/16”ROUND HEAD 
SCREW

40

10 CLEAT 10

11 FLAT HEAD SCREW FOR 
CARCASS

2

12 WOOD BLOCK 4

13 1” FLAT HEAD SCREW FOR 
WOOO BLOCK

8

www.KitchenCabinetKings.com • (888) 696-6454 21

A

A

A

A

A

A

F

F

G

G

H

H H

B

B

B

B

B
B

B

K
I

C

C

C

C

E

E

E

E

D

D
D

D

J

  GETTING STARTED: 
prepare a protection layer, a screwdriver 
STEP 1: Joint side panel with back panel  
STEP 2: Joint bottom panel with side panel  
STEP 3: Joint side panel with bottom & back panel  
STEP 4: Attach frame on and toekick board  
STEP 5: Joint the drawer together, then install the drawer guide.  
STEP 6:  Attach the wood block on the top corner.and put on the 

adjustable shelf 
STEP 7:  Fix drawer head on the drawer front and fix door onto the 

frame and adjust the cover-space

B12,B15,B18,B21
ASSEMBLY INSTUCTIONS

PARTS LIST

NO. DESCRIPTION QTY

A BACK PANEL 1
B SIDE PANEL 2
C TOP & BOTTOM PANEL 1
D TOE KICK 1
E FACE FRAME 1
F DRAWER BOX FRONT AND 

BACK
2

G DRAWER BOX SIDE 2
H DRAWER BOX BOTTOM 1
I ADJUSTABLE SHELF 1
J DRAWER HEAD 1
K CABINETS DOOR 1

F

F

G

G
HEpoxy sidemount

drawer runners

Drawer box

Drawer 
box

Runner 
profiles Rear mounting 

brackets Hinge
Screw Spacer

Damper


